

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at **wvOASIS.gov**. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at **WVPurchasing.gov** with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

WOASIS	Jump to: FORMS 🛕 Go 😚 Home 🌮 Personalize 👔 Accessibility 🛜 App Help 🏹 Abor
ome, Lu Anne Cottrill	Procurement Budgeting Accounts Receivable Accounts Payable
itation Response(SR) Dept: 0802 ID: ESR08171700000000667 Ver.: 1 Func	tion: New Phase: Final Modified by batch , 08/17/2017
Header @ 2	
neader @2	
	E List View
General Information Contact Default Values Discount Document Informa	tion
Procurement Folder: 337516	SO Doc Code: CRFQ
Procurement Type: Central Contract - Fixed Amt	SO Dept: 0802
Vendor ID: VC0000040678	SO Doc ID: DMV/1800000001
Legal Name: LOGICALIS INC	Published Date: 8/9/17
Alias/DBA:	Close Date: 8/17/17
Total Bid: \$306,808.90	Close Time: 13:30
Response Date: 08/17/2017	Status: Closed
Response Time: 12:56	Solicitation Description: Addendum No. 2 IBM DB2
12.00	Software Subscription and Support V
	Total of Header Attachments: 2
	Total of All Attachments: 2



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia Solicitation Response

	Proc Folder: 337516 Solicitation Description: Addendum No. 2 IBM DB2 Software Subscription and Support Proc Type: Central Contract - Fixed Amt				
Date issued	Solicitation Closes	Solicita	tion Response	Version	
	2017-08-17 13:30:00	SR	0802 ESR0817170000000667	1	

VENDOR			
VC0000040678			
LOGICALIS INC			
Colligitation Number		0000	DNN/4800000004
Solicitation Number:	CRFQ	0802	DMV180000001

2017-08-17

Response Time:

12:56:57

Response Date:

Comments:

Total Bid :

\$306,808.90

FOR INFORMATION CONTACT THE BUYER			
Melissa Pettrey			
(304) 558-0094 melissa.k.pettrey@wv.gov			
Signature on File	FEIN #	DATE	
All offers subject to all terms and conditions of	ontained in this solicitation		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	IBM DB2 Enterprise Server Edition Software. Year One	700.00000	EA	\$81.770000	\$57,239.00
Comm Code	Manufacturer	Specification		Model #	
81112200					
Extended Des	scription : IBM DB2 Enterprise Serve 08/31/2018.	er Edition Process	or Value Uni	t annual Software	Subscription and Support 10/01/2017 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	IBM DB2 Enterprise Server Edition Software. Year Two	700.00000	EA	\$104.300000	\$73,010.00
Comm Code	Manufacturer	Specification		Model #	
81112200					
Extended Des	scription : IBM DB2 Enterprise Serve 08/31/2019.	er Edition Process	sor Value Uni	t annual Software	Subscription and Support 09/01/2018 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	IBM DB2 Enterprise Server Edition Software. Year Three	700.00000	EA	\$114.730000	\$80,311.00

Comm Code	Manufacturer	Specification	Model #	
81112200				
Extended Descript	ion : IBM DB2 Enterpri 08/31/2020.	se Server Edition Processor Value	e Unit annual Software Subscriptio	on and Support 09/01/2019 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	IBM DB2 Enterprise Server Edition Software. Year Four	700.00000	EA	\$126.200000	\$88,340.00
Comm Code	Manufacturer	Specification		Model #	
81112200					
Extended Des	scription : IBM DB2 Enterprise Serve 08/31/2021.	r Edition Process	sor Value Uni	t annual Software	Subscription and Support 09/01/2020 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$318.590000	\$1,592.95
Comm Code	Manufacturer	Specification		Model #	
81112200					
Extended Des	scription : IBM DB2 Developer Editic 08/31/2018.	on Processor Valu	ue Unit Annua	al Software Subscr	iption and Support. 10/01/2017 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$396.780000	\$1,983.90
Comm Code	Manufacturer	Specification		Model #	
	Manulacturer	Specification			
81112200					
Extended Des	scription : IBM DB2 Developer Edition (08/31/2019).	on Processor Valu	ue Unit Annua	al Software Subscr	iption and Support. 09/01/2018 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$420.590000	\$2,102.95

Comm Code	Manufacturer	Specification	Model #	
81112200				
Extended Descript	tion : IBM DB2 Develope 08/31/2020.	er Edition Processor Value Unit A	nual Software Subscription and Su	pport. 09/01/2019 through

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$445.820000	\$2,229.10
Comm Code	Manufacturer	Specification		Model #	
81112200					
Extended Des	scription : IBM DB2 Developer Editio 08/31/2021.	n Processor Valı	ue Unit Annua	I Software Subscr	iption and Support. 09/01/2020 through



# State of West Virginia Request for Quotation

· · · · · · · · · · · · · · · · · · ·			
Pi	roc Folder: 337516		
D	oc Description: Addence	um No. 2 IBM DB2 Software Subscription and Support	
Pi	oc Type: Central Contra	act - Fixed Amt	
Date Issued	Solicitation Closes	Solicitation No	Version
2017-08-09	2017-08-17 13:30:00	CRFQ 0802 DMV1800000001	3

BID RECEIVING LOCATION			
BID CLERK			
DEPARTMENT OF ADMINISTRATIO	N		
PURCHASING DIVISION			
2019 WASHINGTON ST E			
CHARLESTON	WV	25305	
US			

VENDOR	
Vendor Name, Address and Telephone Number:	
Logicalis, Inc. 2456 Fortune Dr., Suite 110 Lexington, KY 40509 (859) 469-5323	

FOR INFORMATION CONTACT THE BUYER		
Melissa Pettrey		
(304) 558-0094		
melissa.k.pettrey@wv.gov		
		·
Signature X: Michael Phile	Fein # 13-4000122	date 8/16/17
All offers subject to all terms and conditions contained in this	solicitation	and the second se

# Addendum No. 2 is issued to publish and distribute the attached information to the vendor community.

#### Central Request for Quotation

The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Division of Motor Vehicles (WVDMV)to establish a contract for IBM DB2 Enterprise Server Edition Processor Value Unit (PVU) Annual Software Subscription and Support Renewal and IBM DB2 Developer Edition Authorized User Annual Software Subscription and Support Renewal for Windows per the bid requirements, specifications, and terms and conditions that are a part of this solicitation and attached hereto.

SHIP TO		
MANAGER		
DIVISION OF MOTOR VEHICLES		
PURCHASING/ACCOUNTS PAYABLE		
1317 HANSFORD ST		
CHARLESTON WV 25301		
US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	IBM DB2 Enterprise Server Edition Software. Year One	700.00000	EA	\$81.77	\$57,239.00

Comm Code	Manufacturer	Specification	Model #
81112200			

#### **Extended Description :**

IBM DB2 Enterprise Server Edition Processor Value Unit annual Software Subscription and Support 10/01/2017 through 08/31/2018.

INVOICE TO		SHIP TO		
MANAGER		MANAGER		
DIVISION OF MOTOR VEHICLES		DIVISION OF MOTOR VEHICLES		
PURCHASING/ACCOUNTS PAY	ABLE	PURCHASING/ACCOUNTS PAYAE	BLE	
1317 HANSFORD ST		1317 HANSFORD ST		
CHARLESTON	WV25301	CHARLESTON	WV 25301	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	IBM DB2 Enterprise Server Edition Software. Year Two	700.00000	EA	\$104.30	\$73,010.00

Comm Code	Manufacturer	Specification	Model #	
81112200				

#### Extended Description :

IBM DB2 Enterprise Server Edition Processor Value Unit annual Software Subscription and Support 09/01/2018 through 08/31/2019.

INVOICE TO			SHIP TO			
MANAGER			MANAGER			
DIVISION OF MOTOR VEHICLES		DIVISION OF MOTOR VEHICLES				
PURCHASING/ACCOUNTS PAYABLE			PURCHASING/ACCOUNTS PAYABLE			
1317 HANS	SFORD ST		1317 HANSFORD ST			
CHARLEST	ron WV25301		CHARLESTON	WV 2	25301	
US			US			
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price	
3	IBM DB2 Enterprise Server Edition Software. Year Three	700.00000	EA	\$114.73	\$80,311.00	

Specification

Model #

Comm Code 81112200

#### **Extended Description :**

Manufacturer

IBM DB2 Enterprise Server Edition Processor Value Unit annual Software Subscription and Support 09/01/2019 through 08/31/2020.

INVOICE TO		SHIP TO	
MANAGER		MANAGER	
DIVISION OF MOTOR VEHICLES		DIVISION OF MOTOR VEHICLES	
PURCHASING/ACCOUNTS PAYABL	E	PURCHASING/ACCOUNTS PAYABL	E
1317 HANSFORD ST		1317 HANSFORD ST	
CHARLESTON	WV25301	CHARLESTON	WV 25301
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	IBM DB2 Enterprise Server Edition Software. Year Four	700.00000	EA	\$126.20	\$88,340.00

Comm Code	Manufacturer	Specification	Model #	
81112200				

#### **Extended Description :**

IBM DB2 Enterprise Server Edition Processor Value Unit annual Software Subscription and Support 09/01/2020 through 08/31/2021.

INVOICE TO		SHIP TO		
MANAGER		MANAGER		
DIVISION OF MOTOR VEHICLES		DIVISION OF MOTOR VEH	ICLES	
PURCHASING/ACCOUNTS PAYABLE		PURCHASING/ACCOUNTS	PAYABLE	
1317 HANSFORD ST		1317 HANSFORD ST		
CHARLESTON W	/V25301	CHARLESTON	WV	25301
US		US		
Line Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price	
5	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$318.59	\$1,592.95	

Comm Code	Manufacturer	Specification	Model #
81112200			

#### Extended Description :

IBM DB2 Developer Edition Processor Value Unit Annual Software Subscription and Support. 10/01/2017 through 08/31/2018.

INVOICE TO		SHIP TO	
MANAGER		MANAGER	
DIVISION OF MOTOR VEHICLI	ES	DIVISION OF MOTOR VEHIC	CLES
PURCHASING/ACCOUNTS PA	YABLE	PURCHASING/ACCOUNTS F	PAYABLE
1317 HANSFORD ST		1317 HANSFORD ST	
CHARLESTON	WV25301	CHARLESTON	WV 25301
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$396.78	\$1,983.90

Comm Code	Manufacturer	Specification	Model #	
81112200				

#### Extended Description :

IBM DB2 Developer Edition Processor Value Unit Annual Software Subscription and Support. 09/01/2018 through 08/31/2019.

INVOICE TO	SHIP TO
MANAGER	MANAGER
DIVISION OF MOTOR VEHICLES	DIVISION OF MOTOR VEHICLES
PURCHASING/ACCOUNTS PAYABLE	PURCHASING/ACCOUNTS PAYABLE
1317 HANSFORD ST	1317 HANSFORD ST
CHARLESTON WV25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$420.59	\$2,102.95

Comm Code	Manufacturer	Specification	Model #
81112200			

#### Extended Description :

IBM DB2 Developer Edition Processor Value Unit Annual Software Subscription and Support. 09/01/2019 through 08/31/2020.

INVOICE TO			SHIP TO				
MANAGER			MANAGER				
DIVISION OF MOTOR VEHICLES PURCHASING/ACCOUNTS PAYABLE			DIVISION OF MOTOR VEHICLES PURCHASING/ACCOUNTS PAYABLE				
1317 HANS	FORD ST		1317 HANSFORD ST				
CHARLESTON WV25301			CHARLESTON	WV 25301			
US			US				
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price		
8	IBM DB2 Developer Edition Authorized User Annual Software	5.00000	EA	\$445.82	\$2,229.10		
Comm Code	Manufacturer	Speci	fication	Model #			
81112200							

#### Extended Description :

IBM DB2 Developer Edition Processor Value Unit Annual Software Subscription and Support. 09/01/2020 through 08/31/2021.

In the event the State wishes to purchase all four years up-front (versus purchasing individual years), Logicalis may be able to provide better pricing. Please contact Brian Ebersole at (614) 434-8678 or via email at brian.ebersole@us.logicalis.com.

	<b>Document Phase</b>	Document Description	Page 6
DMV180000001	Final	Addendum No. 2 IBM DB2 Software	of 6
		Subscription and Support	

### ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

Logicalis reserves the right to negotiate terms and conditions with the State of West Virginia upon being selected as the successful proposer. Additionally, upon selection, Logicalis will develop a final Quote for the products to be provided. Signed acceptance of the final Quote will be required before ordering of products.

### ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: DMV1800000001

**Instructions:** Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

#### Addendum Numbers Received:

(Check the box next to each addendum received)

[x]	Addendum No. 1	[	]	Addendum No. 6
[x]	Addendum No. 2	[	]	Addendum No. 7
[]	Addendum No. 3	[	]	Addendum No. 8
[]	Addendum No. 4	Į	]	Addendum No. 9
[]	Addendum No. 5	[	]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Logicalis, Inc.
Muchine J
Authorized Signature
16-August-2017
Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

# **Exhibit A: Pricing Page**

Year two through four renewal periods will be initiated by change order.

## GRAND TOTAL BREAKDOWN:

(Vendor must provide the individual cost breakdown for the components listed below and all related costs associated with the implementation.)

	Unit Cost	Unit of Measure	Quantity	Extended Cost
IBM DB2 Enterprise Server Edition Processor Value Unit annual				
Software Subscription and Support renewal				
Year One	81.77	Per Year Per PVU	700	\$57,239.00
Year Two	104.30	Per Year Per PVU	700	\$73,010.00
Year Three	114.73	Per Year Per PVU	700	\$80,311.00
Year Four	126.20	Per Year Per PVU	700	\$88,340.00
IBM DB2 Developer Edition Authorized User annual Software				
Subscription and Support renewal				
Year One	318.59	Per Year Per User	5	\$1,592.95
Year Two	396.78	Per Year Per User	5	\$1,983.90
Year Three	420.59	Per Year Per User	5	\$2,102.95
Year Four	445.82	Per Year Per User	5	\$2,229.10
		Total all-inclusive	cost	\$306,808.90

Solicitation will be evaluated on Total Bid Amount. Award will be for the first year's services only.

Vendor should not alter pricing page and should fill out pricing page as it.

The addition of alterations to the pricing page and/or addition of commodities other than those

listed on the pricing page online or as an attachment will result in disqualification of bid submittal.